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Elementary Probability

Example

1. If 
 are chosen randomly from the set 

with replacement, determine the probability that the roots of the

equation 
are real.

Watch Video Solution

pandq {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

x2 + px + q = 0

2. A determinant of the second order is made with the elements 0 and 1.

What is the probability that the determinant made is non-negative?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MkN4DE1x6dlO
https://dl.doubtnut.com/l/_sFacGz7t2XjH


Watch Video Solution

3. Two squares of  are chosen at random on a chestboard. What is

the probability that they have a side in common ?

Watch Video Solution

1 × 1

4. Five ordinary dice are rolled at random and the sum of the numbers

shown on them is 16.What is the probability that the numbers shown on

each is any one from 2, 3, 4 or 5?

Watch Video Solution

5. Out of (2n+1) tickets consecutively numbered, three are drawn at

random. Find the chance that the numbers on them are in AP.

Watch Video Solution

https://dl.doubtnut.com/l/_sFacGz7t2XjH
https://dl.doubtnut.com/l/_2sRV2KgtvuQa
https://dl.doubtnut.com/l/_BjLoOt5fgoqe
https://dl.doubtnut.com/l/_kopXxqvwAw0y
https://dl.doubtnut.com/l/_C26e675wZCDh


6. A car is parked among N cars standing in a row but not at either end.

On his return, the owner finds that exactly r of the N places are still

occupied. What is the probability that both the places neighbouring his

car are empty?

Watch Video Solution

7. Two non negative integers are chosen at random. The probability that

the sum of the square is divisible by 10, is

Watch Video Solution

8. From an ordinary pack of 52 cards an even number of cards are drawn

at random. Find the probability of getting equal number of black and red

cards.

Watch Video Solution

https://dl.doubtnut.com/l/_C26e675wZCDh
https://dl.doubtnut.com/l/_pSLBvAeIobi7
https://dl.doubtnut.com/l/_aSLbrerbiyio


9. The sum of the digits of a seven-digit number is 59. Find the probability

that this number is divisible by 11.

Watch Video Solution

10. A, B and C are events associated with a random experiment such that 

P(A) = 0.3,

P(B) = 0.4, P(C) = 0.8,  = 0.08,  =0.28 and 

 = 0.09. If


 Then prove that  lies in the interval 

.

Watch Video Solution

P (A ∩ B) P (A ∩ C)

P (A ∩ B ∩ C)

P (A ∪ B ∪ C) ≥ 0.75 P (B ∩ C)

[0.23, 0.48]

11. A coin is tossed  times, . Find the probability of

getting exactly  consecutive heads.

Watch Video Solution

(m + n) (m > n)

m

https://dl.doubtnut.com/l/_42qldhzDUrZE
https://dl.doubtnut.com/l/_x517Rwjvk2XY
https://dl.doubtnut.com/l/_IFxgpSWsjCJn


12. For the three events

and

Then, find the probability of occurrence of at least one of the three

events 

Watch Video Solution

A, B, andC, P(e x a c t l yo n eo ft h ee v e n t sAorBo c c u r s) = P(e x a c t
= p

P(a l lt h et h r e ee v e n t so c c u rs i m u l t a n e o u s l y) = p2, w h e r e0

A, B, andC.

13. The decimal parts of the logarithms of two number taken at random

are found to six places. what is the chance that the second can be

substracted from A the first without borrowing?

Watch Video Solution

14. In a multiple choice question, there are five alternative answers of

which one or more than one are correct. A candidate will get marks on

the question, if he ticks all the correct answers. If he decides to tick

https://dl.doubtnut.com/l/_mIdS4eRaH6d3
https://dl.doubtnut.com/l/_KHDQXxey9idI
https://dl.doubtnut.com/l/_XLJh9bW36Q2V


answer all random, then the least number of choices should he be

allowed, so that the probability of his getting marks on the question

exceeds  is

Watch Video Solution

1

8

15. A consignment of 15 record players contains 4 defectives. The record

players are selected at random, one by one, and examined. The one is

examined, are not put back. Then the probability that 9th one examined is

the last defective, is

Watch Video Solution

16. Three critics review a book. Odds in favour of the book are 5:2, 4:3
and

3:4 respectively for three critics. Find the probability that eh majority
are

in favour of the book.

Watch Video Solution

https://dl.doubtnut.com/l/_XLJh9bW36Q2V
https://dl.doubtnut.com/l/_Pu5IN7KBoNtt
https://dl.doubtnut.com/l/_3s6UcYlTL7Pu
https://dl.doubtnut.com/l/_GDDoq7I5kntb


17. Sixteen players  play in a tournament. They are divided

into eight pairs at random. From each pair a winner is decided on the

basis of a game played between the two players of the pair. Assume that

all the players are of equal strength.Find the probability that the player

 is among the eight winners.

Watch Video Solution

S1, S2, ..., S16

S1

18. Sixteen players  play in a tournament. They are divided

into eight pairs at random. From each pair a winner is decided on the

basis of a game played between the two players of the pair. Assume that

all the players are of equal strength.Find the probability that the player

 is among the eight winners.

Watch Video Solution

S1, S2, ..., S16

S1

19. A pair of unbiased dice are rolled together till a sum of either 5 or 7 is

obtained. Then find the probability that 5 comes before 7.

https://dl.doubtnut.com/l/_GDDoq7I5kntb
https://dl.doubtnut.com/l/_Ftvx2oASKxeK
https://dl.doubtnut.com/l/_mq6z9Wp3gIzD


Watch Video Solution

20. 
play a game of tennis. The situation of the game is as follows:

if one
 scores two consecutive points after a deuce, he wins; if loss of a

point is
followed by win of a point, it is deuce. The chance of a server to

win a
point is 2/3. The game is a deuce and 
 is serving. Probability that


will win the match is (serves are change after each game)
 
b. 
c. 


d. 

Watch Video Solution

AandB

A

A 3/5 2/5

1/2 4/5

21. There are 70 students in a class out of which 60% are boys. If 20 girls

passes an examination then find the probability that a randomly selected

girl would have passed the examination.

Watch Video Solution

https://dl.doubtnut.com/l/_mq6z9Wp3gIzD
https://dl.doubtnut.com/l/_NzNxvfpnm4sV
https://dl.doubtnut.com/l/_X5aTYKKx4GMw


22. In a series of five one-day cricket matches between India and Pakistan,

the probability of India winning or drawing are respectively  and  • If

a win, loss or draw gives 2, 0 or 1 point respectively then find the

probability that India will score 5 points in the series.

Watch Video Solution

1

3

1

6

23. There are n person sitting in a row two of them are selected at

random the probability that two selected persons are not together is

Watch Video Solution

24. A coin is tossed 10 times. The probability of getting exactly six heads is

Watch Video Solution

25. A coin is tossed 10 times. The probability of getting exactly six heads is

https://dl.doubtnut.com/l/_isDzbrKb1aH6
https://dl.doubtnut.com/l/_Gc2z2O8mc2hm
https://dl.doubtnut.com/l/_N6Vl9DmYAo7Y
https://dl.doubtnut.com/l/_HToidaG3Vg9z


Watch Video Solution

26. A coin is tossed 10 times. The probability of getting exactly six heads is

Watch Video Solution

27. A man takes a step forward with probability  and backward with

probability . The probability that at the end of eleven steps he is just

one step away from the starting point, is

Watch Video Solution

0.4

0.6

28. The probability of a man hitting a target in one fire is . How many

times at least must he fire at the target in order that his chance of hitting

the target at least once will exceed ?

Watch Video Solution

1

4

2

3

https://dl.doubtnut.com/l/_HToidaG3Vg9z
https://dl.doubtnut.com/l/_dcxsTA18YuFE
https://dl.doubtnut.com/l/_obfcZYRLF84G
https://dl.doubtnut.com/l/_RkKbfN8izHac
https://dl.doubtnut.com/l/_Ex9f852woi4f


29. In a sequence of independent trials, the probability of the success in

one trial is . Find the probability that the second success takes place on

or after the fourth trial in 6 trials.

Watch Video Solution

1

4

30. Statement-1: If p is chosen at random in the closed interval [0,5], then

the probability that the equation 

 has real is . 


Statement-2: If discriminant , then roots of the quadratic equation

are always real.

Watch Video Solution

x2 + px + ( + 2) = 0
1

4

3

5

≥ 0

31. Two numbers  and  are selected such that  and 

. Find the probability that the selected numbers satisfy the

inequation .

Watch Video Solution

x ∈ R y ∈ R x ∈ [0, 4]

y ∈ [0, 4]

y2 ≤ x

https://dl.doubtnut.com/l/_Ex9f852woi4f
https://dl.doubtnut.com/l/_acyjKXGAGAfb
https://dl.doubtnut.com/l/_YCvTjSmntEmP


Exercise

32. There is  chance that it rains on any particular day. What is the

probability what where is at least one rainy day within a period of 7 days

? Given that there is at least one rainy day, What is the probability that

there are at least two rainy days ?

Watch Video Solution

30 %

33. For two events  and , if  and ,

then which of the following is not true ?

Watch Video Solution

A B P (A)P( ) =
A

B

1

4
P( ) =

B

A

1

2

1. A has 3 shares in a lottery containing 3 prizes and 9 blanks, B has 2

shares in a lottery containing 2 prizes and 6 blanks. Compare their

chances of success

https://dl.doubtnut.com/l/_YCvTjSmntEmP
https://dl.doubtnut.com/l/_95YwCUtT9PVS
https://dl.doubtnut.com/l/_Z96HRKw45aAD
https://dl.doubtnut.com/l/_Tx1OnXtZGqlF


Watch Video Solution

2. Three dice are thrown, the numbers appearing on them are respectively

a, b and c. chance that the roots of the quadratic equation

 are real is

Watch Video Solution

ax2 + bx + c = 0

3. Statement-1: Out of 21 tickets with number 1 to 21, 3 tickets are drawn

at random, the chance that the numbers on them are in AP is . 


Statement-2: Out of (2n+1) tickets consecutively numbered three are

drawn at ranodm, the chance that the number on them are in AP is (4n-

10)/ .

Watch Video Solution

10

133

(4n2 − 1)

4. A box contains 2 fifty paise coins, 5 twenty five paise coins and a certain

fixed number n  of ten and five paise coins. Five coins are taken out( ≥ 2)

https://dl.doubtnut.com/l/_Tx1OnXtZGqlF
https://dl.doubtnut.com/l/_1IQa9Tnsp0zr
https://dl.doubtnut.com/l/_yah7ChXVq7Yp
https://dl.doubtnut.com/l/_as8nTB8jAlLm


of the box at random. Find the probability that the total value of these 5

coins is less than one rupee and fifty paise.

Watch Video Solution

5. The digits 1,2,3,4,5,6,7,8 and 9 are written in random order to form a

nine digit number. The probability that this number is divisible by 4, is

Watch Video Solution

6. A bag contains 36 tickets, numbered from 0 to 35. Three of the tickets

are drawn at random. Find the probability of the sum of the numbers in

the three tickets drawn to be 36.

Watch Video Solution

7. A four-letter word is written down by taking letters from the word

KANYAKUMARI. What is the chance of the word to be of all different

https://dl.doubtnut.com/l/_as8nTB8jAlLm
https://dl.doubtnut.com/l/_uH3yu27V88gG
https://dl.doubtnut.com/l/_119RZO1CVVwY
https://dl.doubtnut.com/l/_gzvQ2UUjdFms


letters?

Watch Video Solution

8. A card is drawn from a pack of 52 playing cards. The card is replaced

and the pack is reshuffled. If this is done six times. The probability that 2

hearts, 2 diamond and 2 black cards are drawn is

Watch Video Solution

9. A word of 5 letters is written down at random with the letters of the

word COLLEGE. What is the probability that all the repeated letters were

used?

Watch Video Solution

10. Six different balls are put in three different boxes, no box being empty.

The probability of putting balls in the boxes in equal numbers is

https://dl.doubtnut.com/l/_gzvQ2UUjdFms
https://dl.doubtnut.com/l/_fCupb3kIytTK
https://dl.doubtnut.com/l/_H7XIUEqHal1p
https://dl.doubtnut.com/l/_T7uKsSkLC4eU


Watch Video Solution

11. A number of six digits is written down at random. Find the probability

that sum of digits of the number is even.

Watch Video Solution

12. A bag contains 6 coupons numbered 1, 2, 3, 4, 5 and 6. Five coupons

are drawn and the coupons are placed in a row at random. What is the

probability that the number read will be divisible by 6?

Watch Video Solution

13. Let . A member of the set X is selected

at random. Find the probability that the selected number is a solution of

the inequation .

Watch Video Solution

X = {x ∣ 1 ≤ x ≤ 50, x ∈ N}

< 0
x2 − 30x + 200

x − 15

https://dl.doubtnut.com/l/_T7uKsSkLC4eU
https://dl.doubtnut.com/l/_Yg7qJqODtOTk
https://dl.doubtnut.com/l/_oVxDoXC1jtBI
https://dl.doubtnut.com/l/_C97L94GY7dwl


14. A bag has 10 balls. Six ball are drawn in an attempt and replaced. Then

another draw of 5 balls is made from the bag. The probability that exactly

two balls are common to both the draw is
 
b. 
c. 
d. 

Watch Video Solution

5/21 2/21 7/21 3/21

15. A question paper is split in two group - A and B. The group A contains

4 questions, each question having an alternative. The group B also

contains 4 questions. A student has to answer at least one question from

each group and he can answer up to 8 questions. What is the probability

that a student will answer 3 questions?

Watch Video Solution

16. A coin is tossed 5 times. What is the probability that head appears an

odd number of times?

Watch Video Solution

https://dl.doubtnut.com/l/_uwIZXF1gfDuk
https://dl.doubtnut.com/l/_BGwSyD2xBwrN
https://dl.doubtnut.com/l/_iwAWeJ88NC0S


17. A dice is thrown six times, it being known that each time a different

digit is shown. The probability that a sum of 12 will b e obtained in the

first three throws is
 
b. 
c. 
d. 

Watch Video Solution

5/24 25/216 3/20 1/12

18. 
 are two candidates seeking admission in ITT. The
 probability

that 
 is selected
 is 0.5 and the probability that 
 are selected is

at most 0.3. Is it possible that the
probability of 
getting selected is 0.9?

Watch Video Solution

AandB

A AandB

B

19. A man and a woman appear in an interview for two
 vacancies in the

same post. The probability of mans selection of 1/4 and
that the womans

selection is 1/3. What is the probability that none of them
 will be

selected?

Watch Video Solution

https://dl.doubtnut.com/l/_AzjBa4qMKFF3
https://dl.doubtnut.com/l/_EltQ2KbdbrR8
https://dl.doubtnut.com/l/_zGj0JfxyIfjp


20. A man and a woman appear in an interview for two
 vacancies in the

same post. The probability of mans selection of 1/4 and
that the womans

selection is 1/3. What is the probability that none of them
 will be

selected?

Watch Video Solution

21. An ant-aircraft gun can take maximum of four shots at an enemy plane

moving away from it. The probability of hitting the plane at the first,

second, third and fourth shot are 0.4,0.3,0.2 and 0.2 respectively. What is

the probability that the plane gets hit?

Watch Video Solution

22. An article manufactured by a company consists of two parts X and Y.

In
the process of manufacture of the part X, 9 out of 100 parts may be

defective. Similarly, 5 out of 100 are likely to be defective in the

https://dl.doubtnut.com/l/_P9LtaoCAlysC
https://dl.doubtnut.com/l/_s9FpHLJzbc4D
https://dl.doubtnut.com/l/_zZfPJSwEktRR


manufacture of part Y. Calculate the probability that the assembled

product
will not be defective.

Watch Video Solution

23. Two persons each make a single throw with a pair of dice. The

probability that the throws are unequal is given by:

Watch Video Solution

24. A coin is tossed 10 times. What is the probability of getting exactly 7

consecutive tails, no two other tails being consecutive?

Watch Video Solution

25. A coin is tossed 10 times. The probability of getting exactly six heads is

Watch Video Solution

https://dl.doubtnut.com/l/_zZfPJSwEktRR
https://dl.doubtnut.com/l/_GvxJ3kr7G40r
https://dl.doubtnut.com/l/_ATvQifVggAqA
https://dl.doubtnut.com/l/_XF5AQfR6IEyX
https://dl.doubtnut.com/l/_d9fqAqg7vKKN


26. A bag contains 8 balls of two colours, red and green. 3 balls are taken

out at random. The probability of getting more red balls than green is

and that of getting more green balls than red is . What is the number

of green balls in the bag?

Watch Video Solution

40
56

16

56

27. A hunter has a chance  of shooting down a tiger from a distance r

metres. He takes his first shot when the tiger is at a distance of 2 metres.

If he misses then he takes the second shot when the tiger is at a distance

of 3 metres and so on. If he misses at his sixth shot also then the tiger

escapes. Find the probability that the hunter will be successful to shoot

down the tiger.

Watch Video Solution

1

r2

28. A and B throw a pair of dice alternately. A wins the game, if he gets a

total of 6 anfd B wins, if she gets a total of 7. If a starts the game, then

https://dl.doubtnut.com/l/_d9fqAqg7vKKN
https://dl.doubtnut.com/l/_N04GgU0wk1VW
https://dl.doubtnut.com/l/_W4rbNrDNuQ2a


find the probabbility of winning the game by A in third throw of the pair

of dice.

Watch Video Solution

29. A and B throw a pair of dice alternately. A wins the game, if he gets a

total of 6 anfd B wins, if she gets a total of 7. If a starts the game, then

find the probabbility of winning the game by A in third throw of the pair

of dice.

Watch Video Solution

30. v31

Watch Video Solution

31. A and B throw with one die for a stake of ₨11 which is to be won by the

player who first throw 6. If A has the first throw, then what are their

https://dl.doubtnut.com/l/_W4rbNrDNuQ2a
https://dl.doubtnut.com/l/_BVenCkswWbwS
https://dl.doubtnut.com/l/_XfyVbheQXlxk
https://dl.doubtnut.com/l/_zRtWtlyB8Xq1


respective expectations?

Watch Video Solution

32. In a set of five games in tennis between two players A and B, the

probability of a player wimxing a game is  who has won the earlier

game. A wins the first game. What is the probability that A will win at

least three of the next four games?

Watch Video Solution

2

3

33. Three persons A, B and C, in order, cut a pack of cards replacing them

after each cut on the condition that the first who cuts a spade shall win

the prize. Find their respective chances.

Watch Video Solution

https://dl.doubtnut.com/l/_zRtWtlyB8Xq1
https://dl.doubtnut.com/l/_V8XlDZI1UJNZ
https://dl.doubtnut.com/l/_z6P4ga8O7ZNO


34. A box contains 2 black, 4 white, and 3 red balls. One ball is drawn at

random from the box and kept aside. From the remaining balls in the box,

another ball is drawn at random and kept aside the first. This process is

repeated till all the balls are drawn front the box. The probability that the

balls drawn are in the sequence of 2 black, 4 white, and 3 red is
 
b. 


c. 
d. none of these

Watch Video Solution

1/1260

1/7560 1/126

35. A bag contains 9 white balls and 1 black ball. Another bag contains 10

white balls. Eight balls are drawn from the first bag at random and put in

the second bag. Again, eight balls are drawn from the second bag and

put in the first. What is the chance that the black ball is still in the first

bag?

Watch Video Solution

https://dl.doubtnut.com/l/_31b91Kz3azbZ
https://dl.doubtnut.com/l/_FPJIEoVp44Vb


36. In a multiple choice question, there are four alternative answers of

which one or more than one is correct A candidate will get marks on the

question
only if he ticks the correct answer. The candidate decides to tick

answers at
a random. If he is allowed up to three chances to answer the

question, then
find the probability that he will get marks on it.

Watch Video Solution

37. Cards are drawn one at random from a well shuffled full pack of 52

playing cards until 2 aces are obtained for the first time. If 
 is the

number of cards required to the drawn, then show that
`P ,{N=n}=((n-1)(52-

n)(51-n))/(50xx49xx17xx13),w h e r e2

Watch Video Solution

N

38. A square is inscribed in a circle with radius  units. Find the

probability that a point lying inside the circle selected at random will lie

inside the square.

7√2

https://dl.doubtnut.com/l/_kOsWLHiKPg2Z
https://dl.doubtnut.com/l/_wGtfpss0eUs1
https://dl.doubtnut.com/l/_kd3FzTwVFY72


Watch Video Solution

39. n different letters are put at random in n addressed envelopes. What

is the probability that no letter is placed in the correct envelope?

Watch Video Solution

40. A die is tossed and when 6 appears then a coin is tossed two times.

What is the probability of getting two heads?

Watch Video Solution

41. A private tutor admits 10 students, boys or girls, in a batch. The

probability that a student admitted in his batch is girl is 0.4, then number

of boys in his batch is:

Watch Video Solution

https://dl.doubtnut.com/l/_kd3FzTwVFY72
https://dl.doubtnut.com/l/_TEQBvhT3GveT
https://dl.doubtnut.com/l/_9mGlMpNoiqfW
https://dl.doubtnut.com/l/_Ql6yVim15fkI
https://dl.doubtnut.com/l/_muiqBMW0jNob


42. If in 6 trials of an experiment the probability of a successes is 5 times

the probability of a failure, then find the probability of two successes.

Watch Video Solution

43. Suppose the probability for A to win a game against B is 0.4. If A has

an option of playing either a “best of 3 games'' or a “best of 5 games

match against B, which option should be chosen so that the probability

of his winning the match is higher? (No game ends in a draw.)

Watch Video Solution

44. A hotel has 5 rooms for rental and they are always occupied. The

owner has 3 TV sets available on the rental Rs 20 per day per set. Only

one set will be supplied to one occupant if he wants it. The chance that

an occupant will want to hire a set is . Find the probability that the

hotel owner will get Rs 60 per day by renting the sets.

Watch Video Solution

3

5

https://dl.doubtnut.com/l/_muiqBMW0jNob
https://dl.doubtnut.com/l/_CGNipZP3DLIs
https://dl.doubtnut.com/l/_QFKpTTI4dSRV


45. Numberse are selected at random, one at a time, from the two-digit

numbers 00,01,02,….99 with replacement. An event E occurs if and only if

the product of the two digits of a selected number is 18. If four numbers

are selected, find probability that the event E occurs at least 3 times.

Watch Video Solution

46. The minimum number of tosses of a pair of dice so that the

probability of getting the sum of the digits on the dice equal to 7 on

atleast one toss is greater than 0.95, is, then  is

Watch Video Solution

n + 1

6

47. There is a circle in the x-y plane whose equation is  and a

square is circumscribing this circle then find the probability that a

selected point will lie inside the circle.

Watch Video Solution

x2 + y2 = 49

https://dl.doubtnut.com/l/_QFKpTTI4dSRV
https://dl.doubtnut.com/l/_n63sWvkdd5E3
https://dl.doubtnut.com/l/_3FG4LnF1yhNP
https://dl.doubtnut.com/l/_AjgFeZEescMR


Watch Video Solution

48. There are two circles in the x-y plane whose equations are

 and . A point is chosen at

random inside the larger circle. Find the probability that the point has

been taken from outside the smaller circle.

Watch Video Solution

x2 + y2 − 2y = 0 x2 + y2 − 2y − 3 = 0

49. If there are 50 students in a class out of which 35 are boys.if only 60%

of students passes in an exmination then find the probability that a

student selected at random will be a girl who has passed the exam.

Watch Video Solution

50. A real number x is selected at random from the solution set of

inequation . What is the probability that

?

y2 − y − 6 ≤ 0

− 4 ≥ 0
(x + 1)(x − 2)

x

https://dl.doubtnut.com/l/_AjgFeZEescMR
https://dl.doubtnut.com/l/_wrJY0Lx2sMDq
https://dl.doubtnut.com/l/_Bdy3Oj1wZ6ye
https://dl.doubtnut.com/l/_o23lHwV39bNA


Watch Video Solution

51. Three tangents are drawn at random to a given circle. Show that the

odds are  against the circle being inscribed in the triangle formed by

the tangents.

Watch Video Solution

3: 1

52. A floor is paved with rectangular marble blocks, each of length a and

breadth b. A circular block of diameter  is thrown on the floor

at random. Show that the chance that it falls entirely on one rectangular

block is .

Watch Video Solution

c(c < a, b)

(a − c)(b − c)

ab

53. A letter is taken out at random from 'ASSIGNMENT' and another from

'ASSOCIATE'. The probability that both the letters are same is

Watch Video Solution

https://dl.doubtnut.com/l/_o23lHwV39bNA
https://dl.doubtnut.com/l/_XSxXrYlccb73
https://dl.doubtnut.com/l/_uHDDPmF7aXMB
https://dl.doubtnut.com/l/_plcYVqtq8WBq


54. A fair dice is rolled once. The probability that an odd number less than

5 turns up is ______________ and the probability that a number greater than

or eual to 3 turns up is _____________.

Watch Video Solution

55. The probabilities of two independent events A and B are respectively

________ and _______,  if the probability that both occur is 

 and the probability that none of then occur is .

Watch Video Solution

P ((A) > P (B))

1

6

1

3

56. Two students A and B solve a problem. Their respective probabilities

of solving the problem are  and . The probability of the problem

being solved by at least one of them is ______.

Watch Video Solution

2

3

1

2

https://dl.doubtnut.com/l/_plcYVqtq8WBq
https://dl.doubtnut.com/l/_V71Qw4i8mIzM
https://dl.doubtnut.com/l/_0uFAEkRq87TK
https://dl.doubtnut.com/l/_LIHxXDYeX53q


57. If A, B are two equiprobable events such that  and 

 then  = ____________.

Watch Video Solution

P (A ∩ B) =
1

4

P (A' ∩ B' ) =
1

5
P (A)

58. Events A, B, C are mutually exclusive events such that

. The set of all

possible values of x are in the interval

Watch Video Solution

P (A) = , P (B) =  and P (C) =
3x + 1

3

1 − x

4

1 − 2x

2

59. n letters are written to different persons and their addresses are also

written on n envelopes. Letters are put at random in the envelopes. Then

the probability that at least one letter is put in wrong envelope, is _______.

Watch Video Solution

https://dl.doubtnut.com/l/_LIHxXDYeX53q
https://dl.doubtnut.com/l/_DzNU8mtpJ3Nr
https://dl.doubtnut.com/l/_JWLsD0mAAqH7
https://dl.doubtnut.com/l/_u1FLuCKFpbYp


60. A problem is given to three students whose chances of solving it are

and respectively. What is the probability that the problem will

not be solved?

Watch Video Solution

,
1

2

1

3

1

4

61. Three items from a lot of 10 items are defective. if two items are

selected randomly one by one without replacing then the probability that

both are defective items.

Watch Video Solution

62. Two dice are thrown simultaneously. What is the probability of getting

two numbers whose product is even?

Watch Video Solution

https://dl.doubtnut.com/l/_sTnsxOHM1Dpd
https://dl.doubtnut.com/l/_tZKykqt73bcB
https://dl.doubtnut.com/l/_LFGRfX63bqOT


63. Three letters are written to different persons and their addresses are

also written on three envelopes. Letters are put at random in the

envelopes. Then the probability that at least two letters are put in correct

envelopes, is _______.

Watch Video Solution

64. Three letters are written to different persons and their addresses are

also written on three envelopes. Letters are put at random in the

envelopes. Then the probability that at least one letter is put in the

correct envelope, is ______.

Watch Video Solution

65. There are 4 envelops and 4 letters are to be put in these envelopes

randomly, then number of ways such that at least 2 letters are placed in

wrong envelope.

Watch Video Solution

https://dl.doubtnut.com/l/_VbdMcaA7YJtK
https://dl.doubtnut.com/l/_kQjEoLFEXgA1
https://dl.doubtnut.com/l/_VkPcPxqdRqgB


Watch Video Solution

66. The probability that out of 10 person, all born in June, at least two

have the same birthday is

Watch Video Solution

67. The probability of a leap year to have 53 Mondays is ______.

Watch Video Solution

68. If two of the 64 squares are chosen at random on a chess board, the

probability that they have a side in common is

Watch Video Solution

69. 12 people are asked questions in succession in a random order and

exactly 3 out of 12 people know the answer. The probability that the 6th

https://dl.doubtnut.com/l/_VkPcPxqdRqgB
https://dl.doubtnut.com/l/_r6LyO8HFu8G2
https://dl.doubtnut.com/l/_tTZMgTl6Ww4U
https://dl.doubtnut.com/l/_tanSORoNFWw0
https://dl.doubtnut.com/l/_S9ay46wsrvmn


person asked is the  person to know the answer, is

Watch Video Solution

2nd

70. Two numbers are selected at random from 1,2,3,....100 and are

multiplied, then the probability correct to two places of decimals that the

product thus obtained is divisible by 3, is

Watch Video Solution

71. Three dice are thrown simultaneously. The probability of obtaining a

sum of 6 is _______.

Watch Video Solution

72. Urn A contains 6 red and 4 black balls and urn B contains 4 red and 6

black balls. One ball is drawn at random from urn A and placed in urn B.

Then, one ball is drawn at random from urn B and placed in urn A. If one

https://dl.doubtnut.com/l/_S9ay46wsrvmn
https://dl.doubtnut.com/l/_bvRwsSK0w5Nb
https://dl.doubtnut.com/l/_WDSfkfaEiNtk
https://dl.doubtnut.com/l/_8xiKx36KvU7c


ball is drawn at random from urn A, the probability that it is found to be

red, is....

Watch Video Solution

73. A and B are two events such that the probability that both A and B

occur is  and the probability that at 2 least one of them occurs is •

The probability of the occurrence of  if .

Watch Video Solution

1

6

2

3

A =_ __ P (A) = 2P (B)

74. The probabilities that on a certain day the two trains from Calcutta

and Mumbai arrive on time at Delhi are 0.93 and 0.89 respectively. The

probability that both trains arrive on time is 0.87. Then the probability

that at least one train is on time is ___________.

Watch Video Solution

https://dl.doubtnut.com/l/_8xiKx36KvU7c
https://dl.doubtnut.com/l/_seEBLQ3zeHDS
https://dl.doubtnut.com/l/_PyO7CVBclqJd


75. If four whole numbers taken art random are
multiplied together, then

find the probability that the last digit in the
product is 1,3,7, or 9.

Watch Video Solution

76. Three six-faced dice are thrown together. The probability that the sum

of the numbers appearing on the dice is , is

Watch Video Solution

k(3 ≤ k ≤ 8)

77. Four small squares on a chessboard are selected at random. The

probability that they form a square of the size  is _______.

Watch Video Solution

2 × 2

78. A coin is tossed three times. The probability of getting head and tail

alternately, is

https://dl.doubtnut.com/l/_GvWjQ2HRyTqE
https://dl.doubtnut.com/l/_gL73JdKkbnDG
https://dl.doubtnut.com/l/_JTtHAJtfDyGn
https://dl.doubtnut.com/l/_qdK1GYhdnNvc


Watch Video Solution

79. A room contains 3 sockets for bulbs. If from a collection of 10 bulbs,

out of which 6 are defective, 3 bulbs are selected at random and put in

the sockets, then the probability that the room is lighted is

Watch Video Solution

80. A bag contains 17 markers with numbers 1 to 17 . A marker is drawn at

random and then replaced, a second marker is drawn then the probability

that first number is even and second is odd, is

Watch Video Solution

81. Five persons entered the lift cabin on the ground
 floor of an 8 floor

house. Suppose that each of them independently and with
 equal

probability can leave the cabin at any floor beginning with the first,
 then

https://dl.doubtnut.com/l/_qdK1GYhdnNvc
https://dl.doubtnut.com/l/_8FX4Gy6Engfs
https://dl.doubtnut.com/l/_sTLYa9vmX64q
https://dl.doubtnut.com/l/_ByCTxUGM7UMP


the probability of al 5 persons leaving at different floor is
a. 
b. 

c. 
d. 

Watch Video Solution

 7P5

75

75

 7P5

6

 6P5

 5P5

55

82. A card is drawn at random from a pack of 52 cards. The chance that it

is either an ace or a heart is _______.

Watch Video Solution

83. P(A cup B)=P(A cap B)` if and only if the relation between P(A) and P(B)

is …………

Watch Video Solution

84. India plays two matches each with West Indies and Australia. In any

match the probabilities of India getting points  are 

 respectively. Assuming that the outcomes are

0, 1 and 2

0.45, 0.05 and 0.50

https://dl.doubtnut.com/l/_ByCTxUGM7UMP
https://dl.doubtnut.com/l/_4NS2yGyWmuDX
https://dl.doubtnut.com/l/_BgL8xGpdJAC0
https://dl.doubtnut.com/l/_EmPQE2UdkmWx


independent, the probability of India getting at least 7 points is (a)

 (b)  (c)  (d) 

Watch Video Solution

0.8750 0.0875 0.0625 0.0250

85. If x denotes the number of sixes in four consecutive throws of a dice,

then P(x=4) is

Watch Video Solution

86. Let an ordinary coin be tossed 15 times. If  denotes the probability

of getting r tails and  is maximum then k = _____.

Watch Video Solution

Pr

Pk

87. Two coins are tossed 4 times. The chance that there will be equal

number of heads and tails, is ________.

Watch Video Solution

https://dl.doubtnut.com/l/_EmPQE2UdkmWx
https://dl.doubtnut.com/l/_jSn5DtHhBOxk
https://dl.doubtnut.com/l/_lgrR01QeYkXp
https://dl.doubtnut.com/l/_n9EMWfKhcYUU


88. The probability that an event A happens in one trial of an experiment,

is 0.4 There independent trials of the experiments are performed. The

probability that the event A happens atleast once, is

Watch Video Solution

89. The odds in favour of A winning a game against B are . The

probability of B winning 3 games out of 7 played is ______.

Watch Video Solution

4: 3

90. The probability of a missile hitting a target bridge is . Two missiles

are enough to destroy a bridge. If six missiles are fired at the bridge, the

chance of the bridge being destroyed is __________.

Watch Video Solution

1

5

https://dl.doubtnut.com/l/_n9EMWfKhcYUU
https://dl.doubtnut.com/l/_8ikH58rIMRU4
https://dl.doubtnut.com/l/_Ag1uRPyXVKEj
https://dl.doubtnut.com/l/_EfTOqW1YKZtw
https://dl.doubtnut.com/l/_GNaP4ePaEbil


91. A dice is thrown six times.The probability of getting three sixes, the

third six appearing in the sixth throw, is ______.

Watch Video Solution

92. Let  and f be any mapping from the set A to itself. If

one such f is selected at random then the probability of f being invertible

is ______.

Watch Video Solution

A = [1, 2, 3, ..., n]

93. Two distinct integers x and y are chosen, without replacement, at

random from the set  , x and y are in

integers} the probability that  is :

Watch Video Solution

{x, y ∣ 0 ≤ x ≤ 10, 0 ≤ y ≤ 10

|x − y| ≤ 5

https://dl.doubtnut.com/l/_GNaP4ePaEbil
https://dl.doubtnut.com/l/_0XvLcZBsOdD0
https://dl.doubtnut.com/l/_XHAQvQFqEG2a


94. A trunk-call is booked. It is known that a trunk-call booked materialises

any time within an hour. The chance that the call will take place within the

first 15 minutes of the booking, is ______.

Watch Video Solution

95. If two events A and B are such that P(A) =0.3, P(B)=0.4 and

 then find the value of 

Watch Video Solution

P (A' ∩ B' ) = 0.5. P (B/(A ∪ B' )).

96. The probabilities of two events are 0.25 and 0.50. The total probability

of both happening together is 0.14. The probability of none of the events

happening ?

A. 0.39

B. 0.25

C. 0.11

https://dl.doubtnut.com/l/_ozmVYwsNWk3M
https://dl.doubtnut.com/l/_4HX2GzECEhiT
https://dl.doubtnut.com/l/_Pw3fqO3Ap5lz


D. none of these

Answer:

Watch Video Solution

97. The probability that atleast one of the events A and B occurs is 0.6 If A

and B occur simulataneously with probability 0.2, then  is

equal to

A. 0.4

B. 0.8

C. 1.2

D. 1.4

Answer:

Watch Video Solution

P
−

(A) + P
−

(B)

https://dl.doubtnut.com/l/_Pw3fqO3Ap5lz
https://dl.doubtnut.com/l/_riv7wVvnMWyO
https://dl.doubtnut.com/l/_oFGletXQ68W9


98. If the letters of the word ASSASSIN are written down in a row, the

probability that no two S's occur together, is

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

1

35

1

14

1

15

99. If , then events A and

B are

A. mutually exclusive

B. independent

C. independent as well as mutually exclusive

P (A) = , P (B) =  and P (A ∪ B) =
2

3

1

2

5

6

https://dl.doubtnut.com/l/_oFGletXQ68W9
https://dl.doubtnut.com/l/_lZkwBAGWEJ7B


D. none of these

Answer:

Watch Video Solution

100. Three dice are rolled. The probability that different numbers will

appear on them is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

6

1

36

1

18

3

28

https://dl.doubtnut.com/l/_lZkwBAGWEJ7B
https://dl.doubtnut.com/l/_OMmuQJWbpPGS


101. The probability of happening of an event A is 0.5 and that of B is 0.3.

If A and B are mutually exclusive events, then the probability of neither A

nor B is…..

A. 0.6

B. 0.5

C. 0.7

D. none of these

Answer:

Watch Video Solution

102. If A and B are two independent events such that

 then 

A. 

B. 

P( ¯̄̄A ∩ B) = and P(A ∩ ¯̄̄B) =
2

15

1

6
P (B) =

4
5

1

6

https://dl.doubtnut.com/l/_JF6T9eNlNn9k
https://dl.doubtnut.com/l/_quEiCmtOQQJ9


C. 

D. 

Answer:

Watch Video Solution

1

5

5

6

103. A student appears for tests I, II and III. The student is successful if the

passes either in tests I and II or tests I and III. The probabilities of the

student passing in tests I, II and III are p,q and , respectively. If the

probability that the student is successful, is , then

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

1

2
1

2

p(1 + q) = 1

q(1 + p) = 1

pq = 1

( ) + ( ) = 1
1

p

1

q

https://dl.doubtnut.com/l/_quEiCmtOQQJ9
https://dl.doubtnut.com/l/_P8HWUWiSRPwU


Watch Video Solution

104. The probability that Krishna will be alive 10 years hence is 7/15 and

that Hari will be alive
 is 7/10. What is t he probability that both Krishna

and Hari will be dead 10
years hence?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

129

150

126

150

101

150

94
150

105. A soldier is firing at a moving target. He fires four shots. The

probability of hitting the target at the first, second, third and fourth

https://dl.doubtnut.com/l/_P8HWUWiSRPwU
https://dl.doubtnut.com/l/_98z1Rg4Uwui5
https://dl.doubtnut.com/l/_Orl6SLmzHE6v


shots are 0.6, 0.4, 0.2 and 0.1 respectively. What is the probability that he

hits the target?

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

527
625

3

625

105

625

106. If A and B are independent events such that

A. 

B. 

C. 

P (A) = 0.3 and P (A ∪ B' ) = 0.8,  then P (B) =

P (B) =
1

2

P (B) =
2

7

P (A ∩ B) =
3

35

https://dl.doubtnut.com/l/_Orl6SLmzHE6v
https://dl.doubtnut.com/l/_gWTjk9sb1fa9


D. 

Answer:

Watch Video Solution

P (A ∩ B) =
3

20

107. 
 are two independent events. The probability that both 


occur is 1/6 and the probability that neither of them occurs is 1/3.

Find the probability of the occurrence of 

A. 

B. 

C. 

D.  or 

Answer:

Watch Video Solution

AandB

AandB

A.

1

2

1

3

5

6

1

2

1

3

https://dl.doubtnut.com/l/_gWTjk9sb1fa9
https://dl.doubtnut.com/l/_pIeqxH5WTBZY
https://dl.doubtnut.com/l/_2tg9KhJlMBNv


108. The probability that atleast one of the two events A and B occurs is

0.6. If A and B occur simultaneously with probability 0.3, evaluate

.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

P( ¯̄̄A) + P(¯̄̄B)

6

5

11

10

9

10

23

20

109. There are three events A, B and C one of which must , and only one

can happen, the odd are 7 to 3 against A and 5 to 9 for B. Find the odds,

against C.

Watch Video Solution

https://dl.doubtnut.com/l/_2tg9KhJlMBNv
https://dl.doubtnut.com/l/_jNB5QciX5Zj4
https://dl.doubtnut.com/l/_P196MchDcJdt


110. Two persons A and B throw two dice each. If A throws a sum of 9 then

the probability of Y throwing a sum greater than that of A is

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

1

6

1

9

9

54

111. Three squares of Chess board are selected at random. Find the

probability of getting 2 squares of one colour and other of a different

colour.

A. 

B. 

8

21

5

21

https://dl.doubtnut.com/l/_P196MchDcJdt
https://dl.doubtnut.com/l/_RBLiMmrJ6yrx


C. 

D. none of these

Answer:

Watch Video Solution

16

21

112. A natural number is selected at random from the set .

The probability that number satisfies the inequation , is :-

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

{1 ≤ x ≤ 100}

x2 + 15 ≤ 16x

9

50

3

20

2

11

https://dl.doubtnut.com/l/_RBLiMmrJ6yrx
https://dl.doubtnut.com/l/_2yh3RVXB5q8F
https://dl.doubtnut.com/l/_uK2gf0IgRzcB


113. If A and B are two events, then which one of the following is/are

always true?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

P (A ∩ B) ≥ P (A) + P (B) − 1

P (A ∩ B) > + P (A) + P (B)

P (A ∩ B) = P (A) + P (B) − P (A ∪ B)

P (A ∩ B) = P (A) ⋅ P (B)

114. If E and Fare independent events such that  and 

, then

A. E, F are mutually exclusive

B. E,  are independent

C.  are independent

0 < P (E) < 1

0 < P (F ) < 1

¯̄̄F

¯̄̄E , ¯̄̄F

https://dl.doubtnut.com/l/_uK2gf0IgRzcB
https://dl.doubtnut.com/l/_8xOfc8HNvZpd


D. 

Answer:

Watch Video Solution

P( ) + P( ) = 1
E

F

¯̄̄E
F

115. If two events A and B are such that  and , then 

 is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

P (A) > 0 P (B) ≠ 1

P( ¯̄̄A / ¯̄̄B)

1 − P( )
A

B

1 − P( )
¯̄̄A

b

(b̄)
1 − P (A ∪ B)

P

P (¯̄̄B)
¯̄̄A

P

https://dl.doubtnut.com/l/_8xOfc8HNvZpd
https://dl.doubtnut.com/l/_OD8XWZJIMYDv


116. For any two events A and B in a sample space, choose the correct

option (s)

A. 

B. 

C. `P(A uu B) = 1- P(barA)P(barB) if A,B are independent

D. `P(A uu B) = 1- P(barA)P(barB) if A,B are mutually exclusive

Answer:

Watch Video Solution

P( ) ≥ (B), P (B) ≠ 0
A

B

P (A) + P (B) − 1

P

P(A ∩ ¯̄̄B) ≠ P (A) − P (A ∩ B)

117. If M and N are any two events, then the probability that exactly one of

them occurs is

A. 

B. 

C. 

P (A) + P (B) − 2P (A ∩ B)

P (A) + P (B) − P (A ∩ B)

P (A) + P (B) − 2P( ¯̄̄A ∩ ¯̄̄B)

https://dl.doubtnut.com/l/_WKb7PkuakABe
https://dl.doubtnut.com/l/_Hfyxkq3DnS0Y


D. 

Answer:

Watch Video Solution

P (A ∩ B) + P( ¯̄̄A ∩ B)

118. Fifteen coupons are numbered 1, 2, 3,…, 15 respectively. Seven coupons

are selected random one at a time with replacement. The probability that

the largest number appearing on the selected coupons is atmost 9, is :

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

( )
6

9

16

( )
7

8

15

( )
73

5

https://dl.doubtnut.com/l/_Hfyxkq3DnS0Y
https://dl.doubtnut.com/l/_orniZmkFmpVF
https://dl.doubtnut.com/l/_893UsEeMRtrg


119. In a box containing 60 bulbs 6 are defective . What is the probability

that out of a sample of 5 bulbs (i) none is defective (ii) exactly 2 are

defective ?

A. 

B. `(1/2)^5

C. 

D. `9/10)

Answer:

Watch Video Solution

10− 5

( )
59

10

120. One hundred identical coins, each with probability 'p' of showing

heads are tossed once. If  and the probability of heads showing

on 50 coins is equal to that of heads showing on 51 coins, then the value

of p is

A. 

0 < p < 1

1

2

https://dl.doubtnut.com/l/_893UsEeMRtrg
https://dl.doubtnut.com/l/_wOsG0WXmRhPq


B. 

C. 

D. 

Answer:

Watch Video Solution

49
101

50

101

51

101

121. The probability that an event A happens in one trial of an experiment,

is 0.4 There independent trials of the experiments are performed. The

probability that the event A happens atleast once, is

A. 0.936

B. 0.784

C. 0.904

D. none of these

Answer:

https://dl.doubtnut.com/l/_wOsG0WXmRhPq
https://dl.doubtnut.com/l/_fAKcTikaOMnp


Watch Video Solution

122. A fair coin is tossed n times. If the probability of getting 4, 5 and 6

heads be in A.P, then n is equal to

A. 12

B. 7

C. 15

D. 14

Answer:

Watch Video Solution

123. An unbiased die with faced marked 1, 2, 3, 4, 5, and 6 is rolled four

times. Out of four face value obtained, the probability that the minimum

face
value is not less than 2 and the maximum face value is not greater

than five
is then
 
b. 
c. 
d. 16/81 1/81 80/81 65/81

https://dl.doubtnut.com/l/_fAKcTikaOMnp
https://dl.doubtnut.com/l/_ZPv8rJWxHWqd
https://dl.doubtnut.com/l/_AZnmrG40yZPa


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

16

81

1

81

80

81

65

81

124. The probabilities of three mutually exclusive
events are 2/3, 1/4, and

1/6. Is this statement correct?

Watch Video Solution

125. If the probabilities for A to fail in an examination is 0.2 and that for B

is 0.3, then the probability that either A or B fails is

Watch Video Solution

https://dl.doubtnut.com/l/_AZnmrG40yZPa
https://dl.doubtnut.com/l/_8cb5yw1TIAHe
https://dl.doubtnut.com/l/_LwWWYX2IDVqZ


126. State whether the statements are true of false. The probability of

gettingexactly 2heads in tossing a coin thrice is  .

Watch Video Solution

( )
3

1
2

127. A number  is selected from first 50 natural numbers. Find the

probability that  satisfies the condition 

Watch Video Solution

x

x x + > 25
50

x

128. State whether the statements are true of false. In a lottery all the

tickets are blank except one, on which there is a prize, n persons draw a

ticket each one after another without replacement. The probabilities of

the 6th person to win the prize is .

Watch Video Solution

6

n

https://dl.doubtnut.com/l/_gfIuTnh4IS6c
https://dl.doubtnut.com/l/_v4qHIdezod5H
https://dl.doubtnut.com/l/_sQQg3rjUBmiQ


129. If probabilities A and B are two independent events then

. State true of false.

Watch Video Solution

P(A ∩ ¯̄̄B) + P (A)P (B) = P (A)

130. Out of 20 consecutive numbers, two are chosen at random, the

probability that their sum is odd is

Watch Video Solution

131. The probability that a man fishing at a particular place will catch 1, 2,

3 and 4 fishes are 0.4, 0.3, 0.2 and 0.1 respectively. Then the expected

number of fishes caught is ______.

Watch Video Solution

https://dl.doubtnut.com/l/_bAo0sL5AQ1zV
https://dl.doubtnut.com/l/_H1PPlWJ9uHhu
https://dl.doubtnut.com/l/_asYAuusuJwcL


132. A dice is rolled four times. The probability of having more sixes than

any other number at any stage is _______.

Watch Video Solution

133. A five-digit number is written down at random. The probability that

the number written is such that when the digits are put in the reversed

order the new number is also a five-digit number equal to the original

number

A. 0.01

B. 0.9

C. 0.81

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_J7cvXTXWTVjK
https://dl.doubtnut.com/l/_CJVuP3MDni2X


134. The adjoining figure gives the road plan of lanes connecting two

parallel roads AB and FJ. A man walking on the road AB takes a turn at

random toreach the road FJ. It is known that he reaches the road FJ from

O by taking a straight line. The chance that he moves on a straight line

from the road AB to the road FJ is.

A. 0.25

B. 0.04

C. 0.2

D. none of these

Answer:

Watch Video Solution

135. Two numbers  are chosen one after another at random (with

replacement) from the set . Find the probability

that  for all .

λ, μ

{a : 1 ≤ a ≤ 10, a ∈ N}

x2 + λx + μ > 0 x ∈ R

https://dl.doubtnut.com/l/_qW6lLKYrcZae
https://dl.doubtnut.com/l/_vTkMhyNIe5rU


Watch Video Solution

136. Two teams A and B play an one-day cricket match. The match is in the

last over and the situation of the match is as follows:
Four balls are to be

bowled by the team B, no wides or no-balls are bowled, the team A has to

score 16 runs to win. Runs that can be scored off a ball are 0,1, 2, 3, 4, 5

and 6. Find the probability that the team A will win by scoring in the last

ball.

Watch Video Solution

137. On a piece of paper certain odd number of horizontal lines at equal

distances are drawn. An equal number of vertical lines at equal distances

are also drawn, forming rectangles. The rectangles are coloured black or

white, set alternately. Three coins are put at random in these rectangles.

Let p be the probability of having two coins in rectangles of the same

colour and the third in a rectangle of the other colour, and p' be the

probability of having all the coins in the rectangles of the same colour. If

https://dl.doubtnut.com/l/_vTkMhyNIe5rU
https://dl.doubtnut.com/l/_gLmTq60tOa3X
https://dl.doubtnut.com/l/_6G7PIUeNKWpq


 then find the number of horizontal lines drawn on the

paper.

Watch Video Solution

p : p' = 16: 5

https://dl.doubtnut.com/l/_6G7PIUeNKWpq

